STATISTICS
SECTION I
Part A
Questions 1-5
Spend about 1 hour and 5 minutes on this part of the exam.
Percent of Section II score—75

Directions: Show all your work. Indicate clearly the methods you use, because you will be scored on the
correctness of your methods as well as on the accuracy and completeness of your results and explanations.

1. The manager of a grocery store selected a random sample of 11 customers to investigate the relationship
between the number of customers in a checkout line and the Wme to finish checkout. As soon as the selected

customer entered the end af a checkont lide,. datawere. coﬁ;qt;d:qnﬂmmmbwgtcustomcm in line who, were in

Pt

front of the selected-cussomer-and-the-time, in seconds, until the selected customer was finished with the
chegkout. The data are shown in the following scatterplot along with the commresponding least-squares regression

fine-and-computeroutput.
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(a) Identify and interpret in context the eswimate of the intercept for the least-squares regression line.
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(b) Identify and inferpret in context the coefficient of detemmination, r2.
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(c) One of the data points was determined to be an outlier. Circle the point on the scatterplot and explain why
the point is considered an outlier.
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STATISTICS
SECTION 11
Part A
Questions 1-5

Spend about 1 hour and 5 minutes on this part of the exam.

Percent of Section IT score—75

Directions: Show all your work. Indicate clearly the methods you use, because you will be scored on the
correctness of your methods as well as on the accuracy and completeness of your results and explanations.

. The manager of a grocery store selected a random sample of 11 customers to investigate the relationship

between the number of customers in a checkout line and the time to finish checkout. As soon as the selected
customer entered the end of a checkout line, data were collected on the number of customers in line who were in
front of the selected customer and the time, in seconds, until the selected customer was finished with the
checkout. The data are shown in the following scatterplot along with the corresponding least-squares regression

line and computer output.
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(a) Identify and interpret in context the estimate of the intercept for the Jeast-squares regression lire.
ﬂfe, FaAY @f the, f’f*}éf(f?}’, Wil is 727, q:ﬁ S0
mesns Yooy W e o 10 CustOmers in Yhe In€,
e, ‘“"30(,“83, dine 16 finsd Cretkeut 5 72 .95 eﬁr nnoc

(b) Identify and interpret in context the coefficient of determination, r>.
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(c) One of the data points was determined to be an outlier. Circle the point on the scatterplot and explain why
the point is considered an outlier.
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STATISTICS
SECTION II
Part A
Questions 1-5
Spend about 1 hour and 5 minutes on this part of the exam.
Percent of Section II score—75

Directions: Show all your work. Indicate clearly the methods you use, because you will be scored on the
correctness of your methods as well as on the accuracy and completeness of your results and explanations.

1. The manager of a grocery store selected a random sample of 11 customers to investigate the relationship
between the number of customers in a checkout line and the fime to finish checkout. As soon as the selected
customer entered the end of a checkout line, data were collected on the pumber of customers in line who were in
front of the selected customer and the time, in seconds, until the selected customer was finished with the
checkout. The data are shown in the following scatterplot along with the corresponding least-squares regression

line and computer output.
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(a) Identify and interpret in context the estimate of the intercept for the least-squares regression line.
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(b) Identify and interpret in context the coefficient of determination, r2.
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(c) One of the data points was determined to be an outlier. Circle the point on the scatterplot and explain why
the point is considered an outlier.
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